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In the following figure, Rectangle represents Web Designers, Clrcle represents Blogaers, Triangle represents Photographers
and Square represents Cricketers. Which set of letters represents Web Designers who are also Cricketers?
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Directions: The question given below consists of a statement, followed by three or four arguments numbered |, 11, 1ll, and
V. ¥ou have to decide which of the arguments is fare 'strong’ argument (s) and which is/are 'weak’ argument (s} and
accordingly choose your answer from the alternatives given below each guestion.

Statement:

Should all the indirect taxes in India be combined into a single tax on all commaodities?

Arguments:

1) Yes, this will considerably simplify the tax collection mechanism and the cost of collection tax will also reduce.
1} Yes, the manufacturers and traders will be benefited by this which in turn will boost tax collection.

I} Ne, no other country has adopted such a system.

a | Nomeis strong

Jand N are
strong

¢ | onlyllis strong

W and Wl are
strong
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E In a certain code, COMPUTER is coded as RFUNVOQMNPC. How is MEDICINE written in that same code?

a | EQJDJEFM
| b | EQJDEJF |

¢ | MFEJDJOE

d | MFEDJJOE
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In the following guestion below are two statements followed by two conclusions numbered | and Il. You have to take the
two given statements to be true even if they seem to be at variance from commeonly known facts and then decide which of
the given conclusions logically follows from the given statements disregarding commaonly known facts.

Statements:

All chains are ropes.
Some links are chains
Conclusions:

|. Some ropes are links. Only conclusion|
AT , d
Il. All links are ropes follows.
b Only conchision |l
folkows.
Both conclusions |
“ | and 1 follow.
q MNeither conclusion |

nor Il follows.
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On 8th Feb, 2005 it was Tuesday. What was the day of the week on 8th Feb, 20047

a Tuesday

b Monday

¢ Sunday

d Wednesday

Memory Based CUET General Test
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Select the option that is related to the fourth number in the same way as the first number is related to the second number
) and the fifth number is related to the sixth number.

11 : 81 27 : 121 :: B : 36

¢ | 18

Memory Based CUET General Test
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In a code language, FLOWERS is written as
OLFSREW, How will INCLUDE be written in

that language?

Ush he VT H, FLOWERS & OLFSREW &
Wﬁﬁmm% INCLUDE & 3H HTNT &

SO fagr JTe?

1) CINEDUL

2) CNIFDLD
3) CNIEDUL
4) CNHDEUL
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In a code language, if FACT is written as 34 and
ABOUT is written as 64, then how will
TROUBLE be written in the same language?

THh &c HNT A, I FACT & 34 & & & foEr
STaT ¥ 3t ABOUT ! 64 & &7 & for@r sirar
g, df TROUBLE &' 3 AT & & for@r
SITTT?

1) 93
2) 100
3) 107
4) 114
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'A + B' means 'A is the mother of B'.

‘A > B' means 'A is the sister of B'.

‘A = B' means 'A is the brother of B'.
fFC=K=M>T + Q, then how is C related to
Q?

'‘A+B & T ¢ 'A B AT ¢

'‘A>B' & 3F & 'A B I8

'A=B'&T 3T § 'A, B & S &

I C=K=M>T+Q%, @ C,Q¥ fF¥ ¥R
qafad 872

1) Maternal uncle
2) Paternal uncle
3) Son

4) Father
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In a code language, INDICATOR is written as
JOE)JBCVQT. How will EMOTIONAL be written
in that language?

UF Fc HNT H, INDICATOR FI JOEJBCVQT
¥ T H fo@m sar ¥ 39 o A
EMOTIONAL & 3 fo@r Jmean?

1) FNAUJQPCN
2) FNPUHQPCN
3) GNPUHTRCM
4) FNPDKQPCN
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'Myopia’ is related to 'Eyes' in the same way as
'Acne’ is related to ' '

mmmm@wm%m
T 'He' FT HY ‘T R

1) Muscles / ATAIRA
2) Beauty / {I:'E\'THT
3) Skin / cddl

4) Medicine / &dT
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Select the option that is related to the third
number in the same way as the second number
is related to the first number.

39 QAFeq &1 99 9w S Had gear @
TEAT ¥ g6 B

8 :514 :: 11 : ?

1) 1333
2) 123
3) 113
4) 1331
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Statement:

All refrigerators are television sets.
Some speakers are television sets.
All speakers are fans.

Conclusion:

l. Some fans are television sets.

Il. Some television sets are refrigerators.
I1l. No fans is a speaker

Y Ipoex elifaser A< &l
FS qFdT Tellfderet AT T
Y a=ar gerEsE ¥

fasahy:

. F& TAHF Telifaere A< B

155 Eehfasrer Je Wperex
NLHE off weras aaar 78T &

1) All of the conclusions follow.

2) Only conclusions | and Ill follow.
3) Only conclusions | and Il follow.
4) Only conclusions Il and il follow.
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Select the figure that will come next in the following
figure series.

i
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b || 8
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P
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Select the figure that will come next in the following

figure series.
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Select the option that represents the correct order
of the given words as they appear in an English
dictionary?

39 QAFeq &1 99 AT I BE 3T aegf & T
HH FT Yo #ar § S F 3 v 3
grechIer H fe@rs aa &7

1. Bank 2. Bulge
3. Barren 4. Barter
5. Bulk
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In a code language, if HOSTEL is written as 19-
15-8-12-5-20, how will NATURE be written in
the same language?

UH Fc AT A, If& HOSTEL #1 19-15-8-12-5-
20%@#%@13@% af NATURE & 36!
AT A HE foET STeamn?

1) 20-1-13-4-17-5
2) 20-1-14-5-18-21
3) 19-1-14-20-1-7-5
4) 14-1-20-22-19-5
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Which number will replace the question mark
(?) in the following series?

fAerfaf@a s@ar & 1 Rsg (?) & i @
HEAT yREdg F307

3, 2, 3, 8, 31, ?

1) 170
2) 166
3) 154
4) 150
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Statements:

Some spoons are plates.

Some plates are bowls.
Conclusions:

. Some bowls are spoons.

Il. Some bowls are plates.

hYoT.

%6 IFAT T gl

6 taT el B

forsan:

.S FER IFAT gl

.55 FeR e &

1) Only conclusions Il follows.

2) Only conclusion | follows.

3) Either conclusion | or Il follows.
4) Both the conclusions | and Il follow.
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Select the set of letters that, when sequentially
placed in the blanks of the given letter series,
will complete the letter series.

e & WHE 1 T4 RNGT, 99 IThAF 9
#ﬁwwvamtwmm$fhﬁxmaqtum
3mn%3wnﬂwmaﬁ HLIM|

P_PLQX L_XP_

1) XPLD
2) XPSM
3) XPRL
4) RPRM
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In a code language, PREVENT is written as
OSDWDOS. How will WITHOUT be written in

that language?

Ush he VT H, PREVENT & OSDWDOS &
Wﬁﬁmm%l 39 3TST & WITHOUT &9

fo@T ST g&hdar 87

1) XJSINVS
2) VJRINPT
3) VJSINVS
4) VJQINZS
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In a code language, if BOX is written as 725 and
GLAND is written as 16493, then how will
BOND be written in the same language?

Wa»?amn:ﬁr I BOX & 725 & & &

ﬁmm%aﬁTGLANDa:HMgaa;wﬁ
foa@T STaT &, 9 BOND & 3 19T & 39

for@r STeen?

1) 7276
2) 7553
3) 9293
4) 7293
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Select the letter-cluster that is related to the
third letter-cluster in the same way as the
second letter-cluster is related to the first
letter-cluster.

3W HEW-UHE #1994 Ffw, st v rer-
g ¥ 3 e Haftd ¢ 99 T g MR-
HAE TN IEN-HAE W WAl B

THRC : DSIU : PUQE :?

1) GRWQ
2) FRVQ
3) FSVR
4) FMVD
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Select the correct mirror image of the given
letter cluster when the mirror is placed to its
right side.

QT fG b may

n0 LLC P W 9 A
X\ 6 W qQOD91TDO

LA B MmdoDITO
49y s md 91T O
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Select the correct option that indicates the
arrangement of the following words in a logical order.

| .World 2.Asia
3. Delhi 4. India
5. Red Fort

U&h difhsd dH H Arafai@d eel Y sgaear &i

sfid FIA It WY [AFey &1 I AfST]
1. 2. ufdrar

3. Ice 4, AR

5. Tl fopelT

1) 3,5, 4, 2, 1

2) 5,3, 2 4, 1

3) 5, 3, 4, 2, 1

4) 5,3, 4,1, 2
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Select the letter-cluster that is related to the
third letter-cluster in the same way as the
second letter-cluster is related to the first
letter-cluster.

3W HEW-UHE #1994 Ffw, st v rer-
g ¥ 3 e Haftd ¢ 99 T g MR-
HAE TN IEN-HAE W WAl B

UMS :YQW :: HRT :?

1) LWX
2) LVX
3) KVY
4) OVX
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